ACTIVITY CODE: 1903227021
B.A 6" Semester (Programme) Examination, October 2020
SUBJECT: SOCIOLOGY
Course Id: 61118 Course Code: AP SOC 601/DSE-1B

Course Title: SOCIAL STRATIFICATION
Time: 1 hour Full marks: 20
The figures in the margin indicate full marks.
Candidates are required to give their answer in their own words as far as practicable.

Unit- |
A) Answer any two of the followings:-
A=A I 7{6 A Ted W 5X2=10

I. What are the differences between class and caste?
(Y 93 TS [IFR A1YLHT B ?
ll.  What are the relations between social stratification and social inequality?
STNIGI BRI 3% STINGIS SHCNIL N A1 B 2
[ll.  What are causes of racial inequality?
GO TIITH FIRY Bl 2
IV.  Discuss the nature of gender inequality in workplace?

FACFG feT5797S (IICNR 97 AT FCAT |

V. s caste-based inequality relevant today? Discuss.

IS ST Go FofSH Ty F A7 2 A BT |

Unit- Il

B) Answer any one of the followings:-
AR (A G0 AR Te W8, 10X1=10

I.  Discuss social stratification from the perspective of Max Weber.
STNIGRE BRI CHLE WIS ST IR FIB S5 BT AT |

II.  Discuss the various forms of social stratification in Indian perspective.

OIS FIRTHIT (A RGN 4RI NG BRI AT FAT |




ACTIVITY CODE: 1903226021
B.A 6" Semester (Programme) Examination, October 2020
SUBJECT: SOCIOLOGY
Course Id: 61118 Course Code: AP SOC 601/DSE-1B
Course Title: FAMILY, MARRIAGE AND KINSHIP
Time: 1 hour Full marks: 20

The figures in the margin indicate full marks.
Candidates are required to give their answer in their own words as far as practicable.

Unit- |
A) Answer any two of the followings:-

fARfafde I 7fo 20s S8d W 5X2=10

I. Write a short note on new reproductive technology.

T AGANYF el T G636 BT (=0
II. What do you mean by cultural kinship?

ARFHOF WY TOT IATS Bl (@A 2
II1. What is the difference between biological and social kinship?

TGIE SIGTel g8 STNIGE Qe Ny NLFT 2

IV. What is marriage migration?
[ERIEERIDICERRT Y

V. What do you mean by choice of marriage in the contemporary Indian society?

S F SIFeT SIS [RAMZT CHLT HNZH IS 9N I (&R 2

Unit- 11
B) Answer any one of the followings:-
BEIRIRSISICS QIR R S ERCRE RIS 10X1=10
L. What are the changes occur in the family structure of modern Indian society?
WYNF SIS TG A FIIMCAMNS JILAAI ATV ACNR?
I1. What types of changes occur in the marriage system in modern Indian society?

WY SO NG RAZIIIZ IR ARIOF AMES AR?
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